PreCalculus

Examination IV

Answer the following problems, documenting your solution using nouns, verbs, and –ly words. {10}

	
	1st Q Mid
	1st Q
	2nd Q Mid
	2nd Q

	Overarching Process
	2
	4
	2
	

	Your Ability to Test 
	2
	3
	4
	

	7 Systemic Parts of PreCal
	3
	2
	3
	

	Web Page/ Growth
	3
	3
	3
	

	Journal
	3
	3
	4
	

	
	
	
	
	


1. If a PreCal student made 135 on the 150-point Examination IV, what else would they need to make on the 2nd Quarter Portfolio to just make an exemption for the final. {25}


	Date
	1
	17
	33
	49
	65
	80
	110

	Dead
	68
	167
	334
	508
	619
	668
	696


2.  Given the following data, determine the best-fit Logistic functions (both TI {10} and the Book {10} versions). State the values of the parameters with units {35}. Give a Scatter Plot {5}, with the equations {5}, and the Window {5}. 



3. Using the function from question number 2, give the following information {20}.


	Date
	Dead

	77
	

	10
	

	0
	

	
	250


4. Report the two forms {20} of the Logistic function that best fits the Popping the Word data if you assume that the year 1950 is the 0th year.


5. How could you modify the Logistic function to reflect a decrease in the number of individuals infected, such as in the recovery of a population infected? {10} Verify with a graph. {10}
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